OOparHble TPUTOHOMETPHYCCKHUE
(PYyHKITUH

DyHKIUA y=arcsin X



CBoucTBa PYHKIMHU y=arcsin x

1. D(H)=[-1;1].
2. E(H)=[-n/2;m/2].
3. DyHKIHUS ABJAETCH HEYETHOM:
arcsin(-x)=- arcsin Xx.
4. DYyHKIIUA BO3PACTAET.
S. DYHKIUA HeIpepbIBHA.



Onpenenenuel.

Ecau |al<l, TO
arcsin a=t <=>{sint=a,
{-mt/2 <t < m/2;
sin(arcsin a)= a.
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OyHKIUS y=arccos X

CBoiicTBa QYHKIIUH Yy=arccos X
1. D(f)=[-1;1].
2. E(H)=[ 0;m].
3. OYHKIMA He ABJIACTCH HU YEeTHOM,
HY HEYETHOM.

4. DYyHKIHUSA BO3pacTaeT.
S. PYHKIIUA HENMpPEePbIBHA.



Onpenesenue?.

Ecau |al<l, TO
arccos a=t <=>{cost=a,
0<t<m;
cos(arccos a)= a.



Teopema.

s m060ro a€ [-1;1] BbIOJIHSIETCSI PpABEHCTBO

arccos a+ arccos(-a)= .

arccos(-a)=m —arccos a, rie 0<a<1
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